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" If a sufficient estimat,
or
a function of the estu:::::S
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(2) (3)

(b) B W e SR S Ll

A maximum likelihood estimator i
always )

Hqed | AW a+b=1 W, (SR YsqA A
T, w3 90 WS wFee | AW a=L 8 b=2
o, (SR T PR R =737

Suppose X and Y are independent
random variables with the same
unknown mean p. Both X and Y have
variance as 36. Let T=aX +bY be an

(€ Ho 98 3w, H, frare w1 afoe @l

—_— |

The error of rejecting H,, when H, i

true, is called error. estimator of u. Show that T is an
@ B3 unbiased estimator ofpifa+b=1.Ifa = %
m’mﬁwﬁ & 1 Boerar Tom and b = Z, then what s the variance of T'?
A ..
Bis called the probaby; o @) () RRe TR o (i) wRRe T o aza
con ty of erro
Onsumer’s rigjc 1 b1 YRS T FIRCT T FoA I
(o) wamag foa
B Riwr R bt R Define the likelihood function for a
One _— random sample drawn from (i) a discrete
of . LX) .
p . the assym ptions of non populatfon and () a continuous
Parametrjc test is v. population.
s aniables under stud )
2. v ey (c) B Y@ 200 IM BCH T 027, ©R Rogw
o . | | © 120 T WAR Io RYQRR | @
Answer iy, brief 2 SASASE ?
@) x ‘:: C‘Zlin is tossed122(())0 times, out of which
% vy ead appears times. Is. th .
Ty o, kY I oy vore WIF unbiased? e com
TRI 36 'Nttlml X W% vy w@nd
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(d) AR A S SR ﬁwwm@
(TS | SHemwety e Borgairernyz R R 2 "?>

() P 3% o, e e 1S
Define a Consisten
an estimator of
and

ElT) <o, - Prove that ifg,, — 0 an
estimatoy of 9

consistent estimat,, Fence obtain.

I'S for the following :

) M
ean of the normay distribution
(u) VarlanCe

[
Il 4

t estimator. Let T, b26
9 with variance G"

!
the l

I
of the normal distribution® i,.'

(b MVUWWW:@@@@MVU

(a)
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(5)

gl /Or

S M RO | 3+6=9

Define MVU estimator. Show that an
MVU estimator is always unique.

G 59 TSl Al 391 fon wiF e
SiI501 SCAISFE 4T AL I | S Srmy
¥ TRRR [l @Rl n 9RFRE A

offg RS FANEE Sfeted : 2+45+42=9
(i) =ASTF (m, 62)

(i) & (n, p)

Describe the maximum likelihood

method of estimation and discuss five
of its optimal properties. Find the
likelihood functions for a random sample
of size n from each of the following
populatlons

(i) Normal (m, 02)

(i) Binomial (n, p)
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(6)

%<1 /Or ||

1 (b)
Wwwﬁw’ A F | Y B

N 50 WPRT oo b1 cam = 5035’[
PRI afSriom oR1 comn a'el, X =52°5)

i
i

It

1!

e 520‘,(){,- ~-X)2 =4900. nI 95% frmel I
i=1

SR Sfere |

. al i
Explain what is meant by mteﬂle{
estimation. Consider 5 random ‘samp’® j

of size 50 from a population with
mean u and s.d. g
computationg
ggservations yield X=52.5

_ o |
I (X; - X)? =4900. Find a 95% i
i=1

confidence interval for 0.

Explain the €Xpressiong null hypothes!$
altematiYe hypo esis, acceptance regio? !
% Tregion. Indicate the I
€ps in testing a statistic i

.- SS What ijs meant bY ';P/219
'0-sided tegtg

( Coniiﬂu’?;

ans

9%{r /Or

AL x|
(i) <o Rew RIFHEE 901 & i
Tfoes PR R CIRT Tl
@®N Ix; =45 lbs, Zx? =279 lbs,
TS x; E{ciimm??%zmmﬁ
IS G&F HAROIA N (W, 6%) TR
WA PRI T, TR 5% TS
Hy:p#13 RS Hpip=1 “ﬁt‘ﬁ:
Wln i e, FoF T4 83 I ]
[|t]>2-306] =0-05. B
v imen
" sample of 9 experim
" l:?nnac.ll:n:mder a certain. diet gave
the following increase in weight.
i =45 lbs, Ex? =279 lbs, where
z:xid— notes the increase in weight
of tl:e ith animal. Assuming that
:It;e increase in weight is normally
distributed as N(i, 62) variate, test
Hy:pu =1 against Hy:p#1 at 5%
lew(/:l. Given [[t|>2-306]=0-05 for |
8 d.f.
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significance :
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le mean | sym of squares of devi
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6. (a)
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(8)

Two random samples gave th
following results. Test whether th
samples come from the sam
normal population at 5% level ©

5%(9,11) = 9.

t5%(20)=2.086, tses(22) =207
Kol TR ™R IR, Bz +Fw 3

» Stating clearly th®

( Contil?

(b)
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(9) 21

§qq1 /Or

751 yog R FECT TN “FwR aifewwo
3 99 1| @S o1 AR IS TR AT,
Cofe (PICET Ty R IR FRIA1?
6+1=7

Describe the procedure of median test
when there are two independent
samples. What nonparametric test
would you use when the two samples

are related?
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